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QUESTION 1

If all OSPF routers on a broadcast network have the same OSPF priority, what parameter is used to determine the new
BDR at the time of a DR failure? 

A. router ID 

B. IP address of interface on broadcast network 

C. area ID 

D. loopback address 

Correct Answer: A 

 

QUESTION 2

Which ASIC is responsible for segmenting a packet into 64-byte J-Cells? 

A. I/O Manager ASIC 

B. PIC I/O ASIC 

C. Buffer Manager ASIC 

D. Internet Processor ASIC 

Correct Answer: A 

 

QUESTION 3

What is the default route preference for directly connected routes? 

A. 1 

B. 0 

C. 5 

D. 17 

Correct Answer: B 

 

QUESTION 4

During initial traffic flow, which routers do dense mode multicast protocols assume want to receive multicast traffic? 

A. only routers with receivers attached 
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B. only routers along the core based tree 

C. all routers in the network 

D. all routers along the shortest-path tree 

Correct Answer: C 

 

QUESTION 5

Without using policy, the default for load balancing traffic to equal-cost destinations is to _____. 

A. load balance per layer 3microflow across all available next hops 

B. load balance per layer 4microflow across all available next hops 

C. load balance per packet across all available next hops 

D. randomly select one of the available next hops 

Correct Answer: D 

JN0-201 VCE Dumps JN0-201 Practice Test JN0-201 Exam Questions

Powered by TCPDF (www.tcpdf.org)

JN0-201 VCE Dumps | JN0-201 Practice Test | JN0-201 Exam Questions                                3 / 3

https://www.pass2lead.com/jn0-201.html
https://www.pass2lead.com/jn0-201.html
https://www.pass2lead.com/jn0-201.html
http://www.tcpdf.org
https://www.pass2lead.com/jn0-201.html
https://www.pass2lead.com/jn0-201.html
https://www.pass2lead.com/jn0-201.html

